8 7 6 4 3 2 1
REVISIONS APPROVALS
028 (714mm) DIA - 91999 ADD TEXT FOR FRON VIEW 111113 J.S. PL KR LD DG
REMOTE ON/OFF 1 HOLE PER BUS BAR 11.50 563
ENABLE SWITCH B [292.1mm] " B [142.9mm] "
g . ] ] u
@Cj@@@@?@ 4 POSITION OUTPUT © ©) ©
TERMINAL BLOCK = (A0 (J05)
v oUT ADJ. SOUH BISRD o | - FETBRL @
OV ADJ. | IO v (2 GO 208008 R 0@ N
OO0 [27.9mm] 2 ASH0et 398040
aaas ol DU = L XD
S5 BN 1000600008 S==1)
INDICATO R\ @ @ @ @ IS, 475 @Q@Ogggj@@OOOOOOOOO@OOQO%
LIGHTS ' @ @ @ @ T (@@@9@@@0%0 [120.7mm] @@@000000@@@
W8 U000 1| PR r ' 200660004881
5 @ |Q (@) DU TE| <5588 ,/ AL L L L IO
i | 22| DRI [71.8mm] [T \ NOEEOOEIUUD)
2 POSITION AC INPUT /@\/@ o 3 s ‘ i O@O@O@O@O © i @@@ f ?@OO@@%)@@O@@
TERMINAL BLOCK ﬁ e g 22 T wi D000 N rAyliEe
SCREW SIZE #6-32 12 PIN
( © \ © ) SIGNAL CONNECTOR E G 5)
#6-32 SCREW FOR OPTION BOARD 10.50
LINE CORD C;,QI\:ASZGROUND FRONT VIEW - [266:7mm] - REAR VIEW
- 15 PIN "D"
STANDOFF B CONNECTOR RECEPTACLE SIDE VIEW
AR
;g [
— /L = : M4 THREADED INSERTS
- . 25" MAXIMUM SCREW PENETRATION
(4 PLACES)
©
@7 o o o \ ) \
©
8.50
[215.9mm]
NOTES:
1. CUSTOMER MUST PROVIDE ADEQUATE CLEARANCE (50MM MIN.)
AT FRONT, SIDES, AND TOP SURFACES FOR AIR FLOW.
© 2. CUSTOMER MOUNTING SCREWS (M4x0.7) MUST NOT
AIRFLOW PROTRUDE INTO POWER SUPPLY BY MORE THAN 1/4" [EMM].
(SEE NOTE 1) 3. SEE INSTRUCTION MANUAL FOR ADDITIONAL INFORMATION.
4. DIMENSIONS ARE IN INCHES, EXCEPT DIMENSIONS IN [ ] ARE IN MM.
b—-— —-—8 TDK-Lambda
@ [19.1mm] " o + PRAWN. A siu 10/20/05
| o OUTLINE DRAWING,
1.063 | L 3.50 " s mepemor | 10121105 LZSa10003/LZSa15004
[27.0mm)] [88.9mm] FINISH N/A ENGR 1 Doudousakis 1025005 | —
BOTTOM VIEW SAFETY b GUTIERREZ 3/31/06 D LZSa1000-OUTLINE D
DO NOT SCALE DRAWING QA R. KOWALSKI 3/31/06 SCALE LAMBDA CONFIDENTIAL SHEET
8 7 6 4 3 2 1




